Passive vs Active Transport Worksheet

1. All cells are
2. Passive does not require

3. What two types of transport involves the cellular process &
transport

4. A process that engulfs objects into the cell is called
5. Which cellular transport is like riding a bike down a hill
6. True or false cellular solvents move from low to high concentration

7. The process of moves solvents from a low concentration to a high
concentration

8. Active transport requires



9, The diffusion of water is called

10. A process of cell transport that is similar to riding a bike up a hill is transport

11. There is a process that requires energy from the cell that uses a or
to move substances.

12. A process that removes objects from the cell is called



